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HIST 125 2018

Emerging European Domination: The Industrial Revolution and Rise of “Free Trade” British Empire (1700s-1800s)
I. In the last class we talked about political revolutions that were an outgrowth of the Atlantic exploration, trade and colonization. Enlightenment ideals fed those revolutions.  Indeed, the political concepts that emerged from the Enlightenment profoundly influenced the other great global modern transformation, i.e., the biggest economic transformation the world has ever seen (perhaps up to the current Information Age).  Today we examine that other great transformation: The Industrial Revolution (IR).

How many of you woke up with an alarm clock this morning?

How many of you are wearing a watch right now?

How many of you did any agricultural work before you came to class?

The IR was a technological transformation that involved two steps:
1. A series of labor-saving (productivity increasing) inventions (textile weaving and spinning machines like the spinning jenny, the steam engine, eventually the assembly line) but also 

2. A transformation in the nature of work itself and, as a result, in the most fundamental aspects of life (time-keeping, work, family, leisure).  

Where did the IR occur?  The short answer: mainly in Europe and more specifically in England. This fact is crucial for this class since, in large part, the IR spurred the political and economic supremacy of the West at a particular time in our modern age: the 19th century.  Indeed, the division of the world into developed and underdeveloped regions begins with this moment.

We will discuss a World-Historical Explanation for the IR so we can explore the ways it emerged within the context of a pre-existing global system (still focused on Indian Ocean dynamics, but being pulled more and more into Atlantic activities/exchanges/developments).  In this view, the IR did NOT emerge s a product of European superiority, or of some special ingenuity located only in European culture.  But, rather, the IR resulted from world-historical processes that took root in Europe for reasons that we now know based on our own understanding of how power, trade, and migrations shifted more and more from the Indian Ocean region to the Atlantic Ocean region: 
1. Age of Discovery

2. Columbian Exchange

3. Sugar plantation complex and Trans-Atlantic slavery

4. Enlightenment ideals and Atlantic Revolutions.

Please note: historians disagree about the order and importance of the four conceptual themes listed above.  For example, some historians argue that the IR depended on a radical shift in personal thought and ideology, which could have flickered during #1 Age, but probably faded from view during the #2 Exchange; and then surged to the fore with #4 Enlightenment.  The scholars who focus on this radical shift of personal thought and action often quote, approvingly, the great sociologist Max Weber who studied the origins of the modern (industrial-age) work ethic.  Like Weber, these scholars believe that the IR would never have been possible with the rise of a certain set of values (the Protestant Ethic), which promoted the rational, human-centered world view that gave birth to Enlightenment principles: Liberty, Fraternity . . . . 
Debates are productive and, above all, interesting because they bring our attention to key questions such as: why did the IR occur in Europe?

I offer our first clue or tentative answer: the IR was not the beginning of great technological innovation or even great modern thought.  Labor-saving inventions (a major dimension of the IR) long preceded the late 18th century:  

Just to cite 2 Examples >>
-[SLIDE] Piston and plough: As early as the 12th century, the Chinese used piston bellows in order to produce 100,000 tons of iron, a rate that Europe would not match until 600 yrs later (using coal instead of wood, btw).  With this iron, the Chinese developed new and stronger ploughs, which when harnessed to water buffalo allowed for the cultivation of enormous rice fields capable of feeding a population that had already reached 120 million. 
-[SLIDE] Sugar: Before the European colonial powers brought this crop to the Americas, it was primarily cultivated in the Islamic Med. world. Arab Muslim success with sugar was a result in part of enormous technical innovations in irrigation, production and processing: the adoption of the Persian bucket wheel and qanat irrigation systems; the use of water power for sugar milling.


What’s novel about the IR, then, is not technological innovation to increase productivity, but rather two things: 
1) The region of economic innovation moves to Europe

2) The pace of global economic change speeds up

That is, labor-saving devices and productivity were not new.  The new technological things were: 1) happening in Europe; and 2) happening at a much more rapid rate in response to more integrated global economic forces, still largely focused on Indian Ocean trade, but also greatly stimulated by Atlantic commerce, for example the triangular trade.

Technological Innovation is NOT a distinctly European phenomenon

Second clue: Sugar and the Tropical Atlantic Plantation Complex. So let’s go back to those sugar plantations in the Atlantic World.  Between the early decades of the 17th C when the British and French established sugar plantations in the Caribbean and the middle of the 19C, by which time Cuba and Brazil were the major centers of sugar production, the demand for sugar skyrocketed and, in response, production increased exponentially.  However, the technology of growing, harvesting, grinding and refining hardly changed.  Sugar producers met demand by increasing the amount of land under cultivation/production, not by increasing yield per acre or labor productivity.  Why do you think they took this approach? Answer, the benefits of slavery to the few slave owners.

So, here were some Europeans, i.e., slave owners who were content to rely on old-fashioned methods, and who even after setting their minds to making as much profit as they could, did not produce any sign of technological innovation.  


What does that tell us about technological innovation?   It’s not innate to any particular group of people, Europeans or otherwise. It only happens where there are incentives, and the sugar planters had no incentive to improve productivity because they had slave labor.  Then, what sort of situations would encourage labor-saving inventions? Labor scarcity and high demand for one enticing product.

Here, we have the beginning of an explanation:  Technological progress in labor-saving machinery, when combined with higher-wage economies where slave labor is scarce, produced major economic change.  


In our past 2 to 3 classes we have examined aspects of an “Atlantic System,” which was beginning to change and expand (colonies, trade, etc.).

The incorporation of the “Atlantic System” into the world system had 3 major effects in Europe:

The “Atlantic System” gave Europe a huge source of silver.  The Atlantic subsystem didn’t just link Africa, Europe and the Americas in the triangular trade; these regions were also linked to Asia through silver flows.

Even after the colonization of the Americas, Europe still lagged behind Asia in manufacturing; the only commodity that Asia wanted from Europe was silver, and thanks to the “discovery” of the Americas and its mines, European powers now had massive amounts of silver.  

Silver went (mainly) to Spanish power from Spanish (American) colonies.  Then that silver flowed from Spain to England, France, and the Low Countries for the purchase of manufactured goods unavailable in Spain.  At same time, Spanish silver also flowed to Middle East, India and China via old trade routes.   Something like 30% of world’s silver ended up in China.


The second major effect of the enlarging Atlantic System:
Plantation agriculture produced big profits (sugar, tobacco, cacao, cotton) for imperialist/mercantilist European powers with colonies.

Third major effect of the enlarging Atlantic System:
Colonial Empires gave Europe new markets for their domestically produced goods.  Europe’s problem had long been that its manufactured goods couldn’t compete with Asian goods (Asians didn’t want them).  The colonies solved this problem: in mercantilist empires, the colonies have no choice but to buy European goods.  


The incorporation of the Americas, then, produced a major economic expansion in Europe and finally gave Europe the means to participate more substantively in the world trade system.  

But industrialization was made truly possible by the abolition of slavery.  Why?  See slide of the bended-knee enslaved person and the title of this image.  The enslaved worker = non-wage laborer.  The “free” worker = wage laborer.  Where do wages go?  In the pockets of workers?  Yes, but earned income really went to buy necessities and goods, and thus wages, not slavery stimulated the multiplier effect of rising capitalism, fueled by industrialization, worker-driven urbanization, and building mass production and mass consumption.

The Industrial Revolution really began with the massive production of textiles.  Britain had long been dependent on imports of cotton textiles from India and silks from China.  But mercantilist laws as well as laws against the importation of Asian textiles into England gave the British captive markets for their own domestically produced textiles.  Still, if Britons were going to compete internationally with Indian and Chinese producers, who benefited from much lower labor costs, these Britons were going to have to increase productivity.  The technological advances of the IR achieve that goal: Cotton goods = 40% of British exports by the early 19C.  [PICTURES: spinning mule; steam engine].

By the 1770s, British mills were making thread that was stronger and finer than earlier machines; the spinner machine offered better control over the weaving process; this how we got many different types of yarn.

But why Britain again? At the end of the 1700s, Great Britain had become the center of the abolitionist lobby and the industrial lobby; and these two advocacy groups combined to end the slave trade as a step toward supporting a new use of labor in a new explosive economy based on factories, wage labor, and the growth of major cities, which were to provide the workers for industries.

Britain had several advantages:
1.  Large and accessible supplies of coal and iron

2.  Its agrarian colonies provided 

a. profits to invest
b. raw materials (like cotton), and 

c. captive markets for manufactured goods


Britain needed these protected markets because at first its manufactured goods couldn’t compete with those from India and China.


Back to Britain and “why Britain?” New factories machines didn’t need as much labor; still people were required to run these machines. In Britain in the 18th Century a relatively new source of labor became available: farmers kicked off their land. During this time, common land was appropriated by the rich through acts of parliament known as Enclosure Acts.  This threw many small farmers off the land and compelled them to work for wages.  Migration to overcrowded and increasingly polluted/disease-ridden cities produced steady flow of labor for the factories, but a grave human cost.  
II. Was the Industrial Revolution Good for Europeans?
A. Standard of Living >

It is undeniable that the IR produced immense wealth, but the question is: to whom did that wealth go?  The question of whether the average standard of living rose or fell in Britain during the IR is the subject of tremendous debate and disagreement among historians.  After a great deal of research, it seems likely that most quantitative measures (real wages, in particular) saw a slight improvement between 1790 and 1840.  In other words, at least some produced by the IR trickled down to workers in new factories and burgeoning mill towns and major cities.


Nevertheless, many, perhaps most of Britain’s workers experienced this slight improvement as a catastrophe.  For that reason, the same period saw the emergence of a working-class movement in Britain aimed at improving the lives of workers.  To understand workers’ perceptions, we have to realize the enormity of the transformation that the IR produced in ordinary people’s lives.
[PICTURES: cotton mill; industrial city]
B. The Working Class
1. With IR, came pervasive Urban Decay:  rapid growth of factories meant rapid urbanization, which led to overcrowding, poor housing, and generally disastrous health conditions and vastly lowered life expectancies. 

Most European cities in the early 19C had no garbage collection or sewage system.  Workers and their families drank the same water that turned the mills.  Polluted water (sewage) led to recurring outbreaks of cholera.  An outbreak in 1849 killed 15,000 in London.  [PICTURE: the polluted Thames]Also: Typhus, Typhoid, Tuberculosis, smallpox were quit pervasive. 

2. Work Discipline & Conditions: Before the IR, most people throughout the world who controlled their own time structured their days the same way: alternating between periods of hard work and periods of rest.  For millions of workers, the IR meant a loss of control over daily and nightly time.  Increasingly under the watchful eye of managers and bosses, workers had to labour continuously for 10-12 hours, with only short, regimented break periods.  This meant a very new experience of time and a radical feeling that time was not one’s own.


Eventually this led to the separation between work and leisure.
For many artisans, this separation was experienced as an erosion of their skills and hence their status (they were doing specialized work but the factory commanded basic/menial work)

3. Family Life: The IR broke down traditional patterns of family life.  In particular, many families increasingly relied on women and children to work outside the home, taking them outside of the control of their husbands and fathers.  

[PICTURE: woman operating machine]

4. Diet: The huge increase in the consumption of sugar was a result of the IR.  3 new beverages from the colonies (coffee, tea and chocolate).  At first, they were sipped by the rich, but the poor soon consumed these beverages, as well; hot and/or sweet, perfectly suited to the needs of people whose caloric intake was declining and for whom warmth was welcome.  Tea won out thanks to the East India Co, which who had the monopoly on tea imported from India, via China.  For the working class, tea with sugar replaced beer, and that substitution was a nutritional loss.


Essentially, IR transformation: alcohol to caffeine.
-After tea, the next most important use of sugar by poor = bread with jam.

The working class chose to eat mainly bread and sugar.  Why? Such choices reflected limits of time and caloric cost; division of labour within family shaped food preferences, so that a wife working restricted the family diet.  

III. The main political outcome, globally, of the IR: The 19th century British Empire 


So we’ve seen the impact of the IR on working people in Europe and we’ve explored why the IR happened in Europe.  But there’s another mystery: why didn’t the new technologies and forms of production spread to the rest of the world?  That sort of technology transfer had been happening for centuries, e.g., Arab powers adapting Persian technology, Europeans adopting Chinese gunpowder, etc.  One of the key aspects of the Modern World is that some places became industrialized while others did not.  In other words, the IR, fundamentally, was an UNEVEN process in the world system.


Please remember: for centuries, the Europeans were decidedly frustrated by their lack of direct access to the lucrative trade of Persia, India and China and the Indian Ocean basin more generally.  That’s what motivated the Portuguese and Spanish voyages of exploration at the end of the 15th century.


With the Ming Dynasty’s retreat the Portuguese made inroads into the Indian Ocean and South China Sea.  Other European powers followed suit.


One of those major powers was the English East India Co; formed in 1599 it soon gained a royal charter for exclusive rights to import East Indian goods into Britain.  For now, though, the presence of this company and of other European merchants merely enhanced the wealth of the Asian Dynasties.  The East Indian Co. purchased huge quantities of Indian textiles in order to satisfy insatiable European demand, and produced these textiles in India—that is where the economic benefits were felt/enjoyed/circulated:


1664: 4.2 million square meters
1684 : 26.9 million 
This mother-lode of textiles were purchased with silver coins.  


Remember this was before the IR, so Europe was still reduced to importing Asian manufactured goods.


India at this time was ruled by the Islamic Mughal Empire. The Mughal Empire was the first dynasty to extend its authority over all of India.  Mughal economic growth put more and more wealth into the hands of regional warrior elites and made it increasingly difficult for the dynastic Mughals to retain centralized control over their vast empire.  Peasants took advantage of this weakness at the top to launch a series of rebellions against official tax collectors and representatives of the central govt.


The East India Company, in turn, took advantage of the Mughals’ weakness by expanding commercial control over parts of India through alliances with various local leaders who resented Mughal control.  After taking over several provinces, the Company used British troops to defeat the army of the Mughal emperor in 1764.  They left the emperor in power but extracted the right to collect taxes in the state of Bengal.  From there, they built an enormous civil bureaucracy and army and gradually expanded their control.  By the early 1800s, the company ruled over most of South Asia’s 200 million inhabitants.  [PICTURES > Battle of Plassey, 1757 = decisive EIC victory over the ruler of Bengal]


British industrialists and merchants then wanted direct access to India, and resented that one company, even a British concern, monopolized it. (Monopoly = hold over from the MERCANTILIST period.

BEI Co even had their own troops to enforce their monopoly

[PICTURE: BEIC Troops]
In 1813, the British parliament abolished the East India Co’s monopoly over trade with India.  Now India became a formal colony of the British govt. but not in the same way as North America; there was a real absence of British settlers in India and even a more startling small presence of English-born troops.

So at the same time as the IR was transforming England’s economy, Britain was dramatically expanding its overseas empire.  And these 2 processes were mutually reinforcing.  India became a key supplier of raw materials to Industrial England and an important market for British manufactured goods

The crucial thing to consider here is the complete transformation of India’s position in the world economic system.  India had been an important textile manufacturer selling its raw cotton and cotton textiles throughout the Indian Ocean and in Europe.  But now, under British control, India experienced active deindustrialization >  [see PICTURE] 

India was now reduced to exporting raw cotton, wheat and other primary goods, while importing manufactured goods, including textiles from Britain.  India now had an unfavorable trade balance. India moved from being a net importer of gold and silver to an exporter of gold and silver.  

This is the origin of the “Third World.” It’s not that Britain industrialized first; it’s that having industrialized, Britain (and Europe) used force to prevent the rest of the world from adopting new technology and push the colonized parts of the world into a subordinate position in the world economy.  That was the long-run significance of industrialization which fuelled imperialism/colonialism.

[Look at CHARTs: shares of world manufacturing output; shares of World GDP]

British colonialism was often justified as a civilizing force in terms of economic policy called laissez faire (see Ppt slide) which benefited, above all, the rulers, investors and deal-makers of the imperial mother-country.

We will look at this in greater detail in a few weeks.  Let us just look at India in the 19th century, as an example.

In any case, colonialism was actually a violent process with enormous ramifications for colonized peoples.  One perhaps surprising way we can see this impact is by looking at the way the British government in India responded to droughts.  In what we now know was a severe El Niño climate cycle, between 12 and 30 million Indians died in 2 famines during the late 1870s and late 1890s.  


At the time, these droughts were seen as the unfortunate effect of climactic conditions beyond human control.  But in fact, many millions died as the direct result of policy choices.  In the face of earlier droughts, both the Chinese and Indian dynasties had enacted measures to preserve lives.

1. Through issuing food rations to starving peasants

2. By carefully monitoring prices to prevent speculators from making a fortune, basically safeguarding that food be available to the poor.


By contrast, the British, under the Viceroy Lord Lytton [PICTURE] adopted a strict laissez faire [define] approach to the famine: he required that no welfare be given unless people worked for it; he declared that the government would not intervene in the functioning of the market.  The result:  During the height of the first famine, 1877-78, India exported a record 6.4 million hundred weights of wheat to Europe.  The fact that this was happening against a background of famine shows that massive deaths wittingly or unwittingly resulted from a policy choice.

How can you export grain at unprecedented levels when some of the population is suffering like this? [PICTURE].  It was policy choices like these that created stark differences between societies in a FIRST versus Third World planet.
